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12. The diagram below shows the set-up used to burn hydrogen and collect the product.
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(a) Why is hydrogen not readily used as a fuel? (1mk)
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(b) State one uses of hydrogen gas. " : (1mk)
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13. a) State Charles’ Law. %
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'b) A certain mass of a gas occupies 150cm? at 281K and 109.41kPa. What will be its
D)

0\ -,
temperature if its volume is reduced by 16 cm® at 1Q1.325kPa. (2mks)

14. 3g of iron reacted with hydrogen chloride gas at S.T.P. Calculate the volume of the

hydrogen chloride gas used. (Fe=56, Molar gas volume at s.t.p=22.4dm?) (2mks)
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15. Under certain conditions » chlorine gas reacts with sodium hydroxide to form sodium -

hypochlorite.

a)Name the conditions under which sodi

um hydroxide reacts with chlorine to form
sodium hypochlorite.

(1mk)
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b) State one use of sodium hypochlorite . (Imk)
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